WR14VE

Rev.6

16.6.2023



Hi KOKI]
IMPACT WRENCH/DRIVER WR14VE

17/

Item No.|Code No. Description No. Used Remarks
1/337716  [BUMPER (B) 1
2324060 |SEAL LOCK HEX. SOCKET HD. BOLT M5X40 4
3337208 |HAMMER CASE ASS"Y 1{INCLUD.1,4,5
41318704 |0-RING (M) 1
5323766  |METAL 1
*6|337714  |ANVIL (M) 1TYPE FOR W/O PLUNGER (B),PIN RETAINER(A)
*6|337715 |ANVIL (M) ASS"Y 1|INCLUD.10,11A TYPE FOR W/PLUNGER (B),
PIN RETAINER (A)
71959154 |STEEL BALL D5.556 (10 PCS.) 2
8|337210 |HAMMER (B) 1
9959148 |STEEL BALL D3.175 (10 PCS.) 33
*10]| 323542 |PIN RETAINER (A) 1|FOR FRA,GER,ESP, ITA,RUS
*11A| 324256 |PLUNGER (B) 1|FOR FRA,GER,ESP, ITA,RUS
12|337213 [WASHER (B) 1
13/337211 [HAMMER SPRING (B) 1
14[337212  [WASHER (A) 1
15[337215 [STOPPER (B) 1
16/318378 [NEEDLE ROLLER 2
17[337209 [SPINDLE (B) 1
18/320506  [IDLE GEAR SET (2 PCS.) 2
19[337717 [RING GEAR (B) 1
20|337214 |WASHER (C) 1
21|6805ZZ |BALL BEARING 680577 1
22|337718 |INNER COVER (B) 1
23337719  |0-RING 1
24337216 |ROTOR ASS"Y 1|INCLUD. 25,26
25337720 |BALL BEARING 698DD 1
26333784 |BALL BEARING 624DD 1
*27]340882C |STATOR IGBT PCB 110V 1
*271340882 |STATOR IGBT PCB 220V-240V 1
28A|337735 |HOUSING (A).(B) SET 1
29|327001 |TRUSS HD. SCREW M4 (BLACK) 1
30A| 372200  |HOOK 1
31327002 |LOCK NUT M4 (BLACK) 2
32959140 |CONNECTOR 50091 (10 PCS.) 5
33984750 |TAPPING SCREW (W/FLANGE) D4X16 2
34937631 |CORD CLIP 1
35|953327 |CORD ARMOR D8.8 1
*36|500247Z |CORD 1{(CORD ARMOR D8.8)
*36|500423Z |CORD 1{(CORD ARMOR D8.8) FOR MAL,UAE(230V-240V)
*36|500470Z |CORD 1{(CORD ARMOR D8.8) FOR TPE,UAE (110V)
*36|500450Z |CORD 1{(CORD ARMOR D8.8) FOR GBR (230V)
*36|500461Z |CORD 1{(CORD ARMOR D8.8) FOR GBR (110V)
*36|500439Z |CORD 1{(CORD ARMOR D8.8) FOR AUS
*36|500234Z |CORD 1{(CORD ARMOR D8.8) FOR INA
*36|500456Z |CORD 1{(CORD ARMOR D8.8) FOR CHN
*36|500435Z |CORD 1{(CORD ARMOR D8.8) FOR HKG
*37]|337204 |CONTROLLER (A) 100V-110V 1
*37]|337696 |CONTROLLER (A) 220V-230V 1
*37]|337697 |CONTROLLER (A) 240V 1
38|321661 |PUSHING BUTTON (A) 1
39|335323 |DC-SPEED CONTROL SWITCH 1
*40] 337205 |CONTROLLER (B) 100V-120V 1

* ALTERNATIVE PARTS




Hi KOKI]
IMPACT WRENCH/DRIVER WR14VE

2/

Item No.|Code No. Description No. Used Remarks

*40]| 337206 |CONTROLLER (B) 220V-240V 1

41 NAME PLATE 1

421301653 |TAPPING SCREW (W/FLANGE) D4X20 (BLACK) 8

43 BRAND LABEL 1

STANDARD ACCESSORIES
*501A| 374968 |CASE 1|FOR AUS, ITA,POL,AUT,HUN
OPTIONAL ACCESSORIES

619|307824 |HOLSTER 1

620971042 |GREASE FOR IMPACT WRENCH (100G) 1

621|873633 |EXTENSION BAR ASS"Y (SQUARE) 12.7MMX100L 1|INCLUD. 623,624
622|986062 |UNIVERSAL JOINT ASS"Y 1|INCLUD. 623,624
623|873537 |SOCKET PIN 1

624873187 |0-RING (J1SW1516) 1

625|873540 |HEX. SOCKET ASS"Y 14MMX40L 1{INCLUD. 623,624
626|873536 |HEX. SOCKET ASS"Y 17MMX32L 1|INCLUD. 623,624
628|873627 |HEX. SOCKET ASS"Y 22MMX40L 1|INCLUD. 623,624
629|873628 |HEX. SOCKET ASS"Y 23MMX40L 1{INCLUD. 623,624
630|873629 |HEX. SOCKET ASS"Y 24MMX40L 1|INCLUD. 623,624
631873630 |HEX. SOCKET ASS"Y 26MMX40L 1|INCLUD. 623,624
632985195 |HEX. SOCKET ASS"Y 27MMX40L 1{INCLUD. 623,624
633985196 |HEX. SOCKET ASS"Y 30MMX50L 1|INCLUD. 623,624
634955138 |HEX. SOCKET ASS"Y (LONG) 12MMX52L 1|INCLUD. 623,624
635955139 |HEX. SOCKET ASS"Y (LONG) 13MMX52L 1|INCLUD. 623,624
636]955140 |HEX. SOCKET ASS"Y (LONG) 14MMX52L 1{INCLUD. 623,624
637955141 |HEX. SOCKET ASS"Y (LONG) 17MMX52L 1|INCLUD. 623,624
638955149 |HEX. SOCKET ASS"Y (LONG) 17MMX75L 1|INCLUD. 623,624
639|955142 |HEX. SOCKET ASS"Y (LONG) 19MMX52L 1{INCLUD. 623,624

640| 955150 |HEX. SOCKET ASS"Y (LONG) 19MMX75L 1|INCLUD. 623,624
641955143 |HEX. SOCKET ASS"Y (LONG) 21MMX52L 1|INCLUD. 623,624
642955151 |HEX. SOCKET ASS"Y (LONG) 2IMMX75L 1{INCLUD. 623,624
643991480 |HEX. SOCKET ASS"Y (LONG) 21MMX125L 1{INCLUD. 623,624
644955144 |HEX. SOCKET ASS"Y (LONG) 22MMX52L 1|INCLUD. 623,624
645955146 |HEX. SOCKET ASS"Y (LONG) 24MMX52L 1|INCLUD. 623,624
646|955147 |HEX. SOCKET ASS"Y (LONG) 26MMX75L 1{INCLUD. 623,624
647985197 |HEX. SOCKET ASS"Y (LONG) 30MMX75L 1|INCLUD. 623,624
648|986058 |HEX. SOCKET FOR PLASTIC CONE 12MMX70L 1|INCLUD. 623,624
649|991481 |FORM TIE SOCKET ASS"Y 11.3MMX95L 1{INCLUD. 623,624

650] 993658 |SOCKET ASS"Y FOR DUCT 12MMX95L 1|INCLUD. 623,624,651
651993659 |SOCKET FOR DUCT 12MMX52L 1

652]992613 |SOCKET ASS"Y FOR DUCT 13MMX95L 1|INCLUD. 623,624,653
653992614 |SOCKET FOR DUCT 13MMX52L 1

654|992615 |SOCKET ASS"Y FOR DUCT 14MMX95L 1|INCLUD. 623,624,655
655992616 |SOCKET FOR DUCT 14MMX52L 1

656|955153  |UNIVERSAL JOINT PIN 1

* ALTERNATIVE PARTS




